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Use of a non-programmabie pocket calculator i1s permissibte
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This examinatioh guestion paper remains the property of the University of South Africa and may not be
removed from the examination venue.

This paper consists of 10 pages and interest tables A to D on pages r-iv

Table A Present value of R1 after n years

Table B Present value of R1 per annum recewved for n years
Table C Future value of R1 after n years

Table D Future value of R1 per annum received for n years

PLEASE NOTE:

All guestions must be answered and calculations must be shown

Ensure that you are handed the correct examination answer book (blue} by the invigilator

Each question answered rmust commence on a separate page

Do not write in pencil

Ignore value-added tax and capital gains tax except where indicated i the question.

A combined final mark of 50% is required to pass this module. This final mark 1s calculated as
follows (20% - obtained for compulsory assignments 01, 02 and 03} + (80% x mark obtained in
this examination), subject to a subminimum of 40% for this paper

DO W -

PROPOSED TIMETABLE
Question Topic Marks | Minutes

1 Time value of money 15 18
2 Capital structure and cost of capital 19 23
3 Analysis of fmancial nformation and working capital management 24 29
4 Capital investment and capital budgeting 22 26
5 Muitiple choice questions 20 24

100 120
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QUESTICN 1 (15 marks} (18 minutes)

a)

b)

c)

d)

e)

f)

Interest on investor's accounts 1s added monthly by the bank even though interest rates are
expressed in annual terms The quoted interest rate (annual percentage rate) is 6% per
annum You opened an account and deposited R1 550 on 1 June 2015 for a fixed term of four
years

REQUIRED:

Make use of the mathematical formuias and
] Calculate the amount of interest that you would have eamed by 31 December 2015
1) Calculate the total amount that you will have i your account on 31 December 2018

[Show the mathematical formulas used and detailed workings Use four decimal places for
your calculations and round your final answers to the nearest rand ] (5)

Nthabi wants to save her Chnstmas bonus of R3 900 at the end of each year for the nex
three years The annual compound interest rate I1s 9%

REQUIRED:

Make use of the factor table method and calculate the value of her total savings at the end of
three years

[Show the equation you used and detalled workings Use four decimal places for your
calculations and round your final answer to the nearest rand ] 2)

The company that you work for has an office bullding that they want to rent out The rental of
R75 000 per annum will be recevable at the beginning of each year for the next five years
The discount rate 1s 8%

REQUIRED:

Make use of the mathematical formula and calculate the present value of this annuity

[Show the mathematical formula and detaled worlkongs. Use four decimal places for your
calculations and round your final answer to the nearest rand.] (3)

Susan will receive R6 000 from her parents on her 21st birthday She will invest the R6 000
when she receives it at an annual compound interest rate of 12% on 1 January 2015

REQUIRED:
Make use of the factor table method and calculate the value of her investment at the end of
seven years

[Show the appropriate equation apphed and factors and detalled workings Use four decimal
places tor your calculations and round your final answer to the nearest rand } ()

Name the type of interest referred to in the statement below
“interest that 1s calculated for the entire peniod based only on the principal amount ® (1)

Peter would like to buy a bachelor’s flat in three years’ ime when he commences his arlicles
By then he will need to have a deposit of R30 000
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QUESTION 1 {continued)
REQUIRED:

Make use of the factor table method and calculate the amount that he will need to invest
annually for the next three years at 9% compounded interest to have the full amount for the
deposit after three years

[Show the appropnate equation used to determine the annual investment () [or payment (pmt))
and detailed workings. Use four decimal places for your calculattons and round your final
answer to the nearest rand ) (2)

[15]

QUESTION 2 {19 marks) (23 minutes)

[Set your calculator on four decimal places for the calculations of this question Show the formulas
used and detaled calculations Round percentages to two decimal places and final answers to the
nearest rand ]

PART 1:
Donatello Limited has the following funding structure

300 000 Ordinary shares are in 1ssue with a nominal value of R30 per share The next dividend
payable will be R3 per share It 1s expected that dividends will have a long-term sustainable
growth rate of 3%. The shares have a current market value of R40 per share Donatello’s cost
of equity is 10,5%

5 000 Bonds 1ssued with a nommal value of R1 000 each and time te maturity of 15 years |t
pays an annual coupon rate of 8% per annum and the current market retum on similar bonds

with a e of 15 years I1s 6% per annum

The corporate tax rate 1s 28%

REQUIRED:
} Calculate the cost of debt for Donatello Limited
i) Calculate the market value of debt for Donatello Limited

) Calculate the weighted average cost of capital (WACC) for Donatello Limited {based on
market values) by using the WACC formula

(9)
PART 2:

The following information reiates to Stbusiswe Limited:

The company holds R2 000 (face value) debentures which are redeemable after six years at
face value

The annual interest payment on the debentures (coupon rate) i1s 12%
The current market return for similar debentures with a Ifespan of s years 1s 11%.
Assumae that the current company rate 1s 28%

[TURN OVER]
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QUESTION 2 (continued)
REQUIRED:
{n Calculate the current market value of the debenturas 4)
() Calculate the effective after tax cost of debt (IRR/YTM} by mathematically computing
the IRR and interpolating between 10% and 12% (use factor tables) (6)

[19]
QUESTION 3 {24 marks) (29 minutes)

Flying Wheels Travel SA (Pty) Ltd supphes sport utiity vehicles to tounsts These vehicles are
equipped with all the necessary equipment for outdoor adventures.

The following financial statements of Flying Wheels Travel SA (Pty) Ltd are provided to you

Statement of profit or loss and other comprehensive income for the years ended 28 February 2014
and 2015

2015 2014

R'000 R'000
Revenue 19 899 21336
Cost of sales {10 965) {11 362)
Gross profit 8 934 9974
Operating costs {4 518) (5 563)
Distnbution costs {1 950) (3 051)
Administrative expenses (615) (553)
Other expenses (468) {556)
Net operating profit /{loss) 1383 251
Interest and other ncome 495 232
Eamings before interest and tax (EBIT) 1878 483
Interest expense {1 005) {9586)
Profit before tax 873 (473)
Income tax expense {262) 142
Net profit 611 (331)
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QUESTION 3 (continued)

Statement of financial position as at 28 February 2014 and 2015

ASSETS

Non-current assets

Property, plant and equipment
Other investments

Total non-current assets

Current agsets

Inventones

Trade and other receivables
Cash and cash equivalents
Total current assets

TOTAL ASSETS

EQUITY AND LIABILITIES
Capital and reserves
Share capital

Retained earnings

Total equity

Non-current liabilities
Interest-beanng borrowings
Deferred tax

Total non-current iabiities

Current liabilities

Trade and other payables
Current tax payable
Current provisions

Total current liabilties

TOTAL EQUITY AND LIABILITIES

Additional information.

2015 2014

R'000 R'000
21556 20 336
6 530 5 536
28 0B6 25872
1220 5632
356 265
2100 1 563
3676 7 480
31762 33 332
10 000 10 000
3948 3337
13 948 13337
15 559 17 520
556 459
16 115 17 979
954 1253
440 562
305 20
1699 2016
31 762 33 332

1. The company has 2 million authonised shares and 1 milion issued shares

2. The opening balance of inventory for 2014 was R3 856 000

3 The amount of sales on credit 1s 60% of revenue for both years.

MAC2602
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QUESTION 3 (continued)
REQUIRED:

a) Calculate the growth rate for Flying Wheels Travel SA (Pty) Lid for the year ending 28 February
2015 n the following hine tems, and briefly discuss the changes

] Cost of sales {2)
(in) Inventory (2)
b} Name the four categonies in which financial statement ratios are grouped {(2)

¢} Calculate the following ratios for Flying Wheels Travel SA (Pty) Ltd for the years 2014 and 2015,
and briefly discuss reasons for the changes
[Clearly indicate the specific formula for the ratio and the calculation in each case and round to
two decimal places ]

{ Current ratio (industry average 2 1) (3)
(ii) Liguid asset ratio (3)
(m) Inventory days (3)
{v)  Inventory turnover ratio/rate (using average inventory) (3)
(v} Eamings per share (3)

d) Read the following statement regarding the management of the company’s inventory and answer
the question related thereto.

“The management of the cornpany’s inventory is imporiant as it ensures that the level of inventory
1s adequate to sustamn the operations and keep the costs at a minimum”

Define the two major costs in keeping inventory and name an example of the type of costs which
are included in each. 3)

(24]
QUESTION 4 (22 marks} {26 minutes)
PART 1
You are gven the following scenanos of capital expenditure

a) The Apple Company realised that voice recognition technology 1s becoming more important in
moebile equipment markets However, they have no in-house expertise and decided to buy a
small company called Sin with state of the art technology in voice recognition platforms This
will enable Apple to become leaders in the mobile markets

b} An industnal valve manufacturing company has a few machines that are used n the
manufactunng of valves One of the machines broke down and after contacting the supplier, it
was found that the machine could be recondihioned by raplacing the old engine and gear box.

¢) A transport company is transporting cargo from the Durban port to countnes in Africa In one
of the countries, a truck was filled with contaminated diesel The truck could not dnve further
and a mechanic had to be flown out to the site The mechanic’s report stated that the
contaminated diesel damaged the truck's engine and that it was beyond repair As the costto
replace the truck’'s engine was much higher than the book value of the truck, the transport
company decided to buy a new truck

[TURN OVER]
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QUESTION 4 (continued)
REQUIRED:
Identify the correct type of capital expenditure for each scenario and briefly explain why the capital
expenditure should be classified as that specific type (8)
PART 2

The following are examples of either factors that can have an influence on the capdal allocation
decision or nsks and uncertainties in capttal budgeting decisions
« Inflation rates for different input costs

¢ availlability of funds

» legal factors

« current and target capital structure of the organisation

+ future demand tor the product

» selling price of the product

+ immediate need for the project

s reaction from competitors
REQUIRED:
Group together all factors and all nsks and uncertainties in table formate g
Factors Risks and uncertainties
L ) [ ]
[ ] L]

4)

PART3

The company Fast Sheanng (Pty) Ltd 1s experts in shearing sheep They consider buying new
electronic shearng equipment They have gathered information on two possible options, equipment
Zipper or equipment Rambo

The following information regarding the equipment is available

Equipment
Zipper Rambo
R R

Cost price 15 600 18 900
Working capital required 2 000 2 300
Net operating income before tax 5940 6 220
Realisable value at end of usetul Iite - current 1000 1100
Useful Iife 6 years 6 years

Additional information:
1 Taxation
. Tax deductible wear and tear allowances are calculated on the straight-line method at

20% per annum, on the cost of the asset
. Normal ncome tax rate - 28%

[TURN OVER]
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QUESTION 4 {(continued)

2 In determining net operating income, depreciation has not been taken into account The
accounting policy of the company is to provide for depreciation in accordance with wear and
tear allowed by SARS

3 Management reqguires a 17% after-tax raturn on all capital Investments

4 Assume that all cash flows occur at the end of each year, except the inthal capital outlays,
which occur at the beginning of year one

§ The IRR for Zipper is already correctly calculated to be 17,56%

REQUIRED:

Calculate the IRR of machine Rambo by interpolating between and 16% and 18% Adwvise whether
machine Zipper or Rambo should be acquired Motivate your decision based on your calculations and
Use four decimals for your calculations and round your final answer to two decimals or the nearest
rand ] (12)

{22]

QUESTION 5 (20 marks) (24 minutes)

This queston consists of ten multiple-choice questons Each queston must be considered
independently, except where specific reference 1s made to information tn another question. Each
queston has only one correct answer, and the marks per question (51 — 5 10) are indicated
brackets after each question

Please answer the ten questions in your examination answer book and list the question numbers
below one another, from 5 1 — 5 10, with your corresponding answer next to it, for example

51 (a)

52 (b)

The questions are as follows

51 Which of the following strategies are generally accepted competitive strategies available o an
organisation in order to achieve therr long-term goals?

(1) Alignment strategy

(2) Cost leadership strategy
(3) Pricing strategles

(4) Risk strategy

{5) Difterentiation strategy

a) Statements (1), (3) and (4)
b) Statements (1), (2) and (5)
¢) Statements (2), (3} and {4)
d) Statements (2), (3) and (5) (2)

52  Which one of the following list of staksholders can be considered to be a secondary
stakeholder of Duplo (Pty) Ltd?

a) The South African Institute of Chartered Accountants (SAICA)

b) Banks

¢} Customers

d) Employees (2)

[TURN OVER]
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QUESTION 5 {continued)

53

54

55

56

Which one of the following examples I1s an external economic factor that has an influence on
the development on strategy?

a) Unethical and unlawful actions

b) Timing of local elections

c) Inflation

d) New technology (2)

Measuring annual profitability based only on accounting and financial indicators have certain
drawbacks Which of the following statements are examples of these drawbacks?

(1) Encourages short-term returns at the expense of the development of the business
(2) Is along-term measure

(3) Profit eamed 1s not an ndicator of cash flows generated

(4) ignores risk

(5) Can be manipulated by the use of creative accounting

a) Statements (1), (2), (3), (4) and (5)

b} Statements (1), (2), (3) and (5)

¢) Statements (1), (3), (4) and (5)

d) Statements (2), (3), (4) and (5) {2)

From the list below, identfy advantages of a close corporation

(1) Membership can be transferred to a new member, d the other members agree to i,
ensuring the continued existence of a close corporation

(2) It's a less expensive and simpler legal form of busmess for the entrepreneur or a few
participants

{3) It taxed as an organisation apart from the members, at 28%

(4) Members enjoy imited hability for debts of the organisation unless it can be proven that
they acted fraudulently

a) Statements (1), (2), (3) and (4)

b) Statements (1), (3) and (4)

c) Statements (1), (2) and (3)

d) Statements (2), (3) and (4) 2)

Which of the tollowing statements regarding sources and forms of finance are TRUE?

(1) Raising money mternafly 1s the process by which an orgamisation retains the operating
cash flow to be saved and remnvested in the organisation on behalf of the organisation’s
owners/investors

(2) A capntal market 1s a financial market in which equity and long-term debt securities are
traded

(3) The money market is a financial market used mainly for raising short-term finance

(4) A mortgage loan, where the loan 1s normally secured over the value of the property
offered as secunty, 1s a form of a long-term loan

a} Statements (1), {2) and (3)

b) Statements (2), (3) and (4)

c) Statement (1}, (2) and (4)

d) Statements (1), (2), (3) and (4) (2)
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QUESTION 5 {continued)

57

58

58

510

The followtng are statements regarding icng-term financing considerations Which one of the
following statements .s FALSE?

a) Dvidends are not deductable for nomal tax purposes as a business expense, whereas
interest usually 1s

b) In the case of liquidation, debt is repaid before equity

¢) Equity holders control the organtsation while debt holders normally do not have control over
the organisaticn

d) Equity tends to have a finite life (repatd over a period of time) while debt tends to be part of
the organisation for life

Which of the following statements regarding the 1ssue of ordinary preference shares
can be regarded as advantages to the organisation?

{1) The control of the organisation will not be affacted when the shares are 1ssued as the
shares do not have any voting nights

(2) Ordinary preference shares present a lower risk to ienders/investors as they require a
lower return

(3) Financial leverage will reduce as the amount of ordinary preference shares (classified
as equity) increases without bringing about dilution for the average shareholders

(4) Preference dividends are not deduchble for tax purposes

a) Statements (1), (2} and (3)
b) Statements (1), (2) and (4)
c} Statements (2), (3) and (4)
d) Statements (1), (2), (3) and (4) (2)

This helps to identfy possible legal exposure or contractual hablities, indicate sources of
income and losses and/or identify values that are at nsk
Which method to identify nsk is descnibed above?

a) Resuits of qualty control checks, inspection and audit reviews

b) Analys's of financial statements

¢) Orgarnsation charts and flow charts

d) Stakeholder consultation (2)

The process of selecting and implementing measures to reduce or mitigate nsk to an
acceptable level 1s known as?

a) Risk analysis

b} Risk monitoring

¢) Risk response

d) Risk reporting {2)

120]
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